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1) Y=6BX-3Y=34X-3
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) slope-intercept: Y =0X - 2; Y = -2
standard lorm: ¥ = -2
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5) slope-ntercepl: Y=-83X+0;Y =-2X
standard lorm: 2X + Y =0
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2) YedB3X+4;¥Y=X+4

4)
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slopa-inlercept: Y=-86X +2; Y =-43X + 2
standard form: 43X +Y=2;4X +3Y =6
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6) slope-intercepl: none because slope is

undefined and there is no Y-intercept.
standard form: X =0
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1) ©n the graph
2) siope= o = 1
3) yintercept = 4
4) YaX+4, X-Y=-4
5 A (Y=-X-1, C (¥Y=-X
6) on the graph
¥ #3 6
i
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7) 2
8) ¥=-3X-1,soslopeis-3
9) Y-13X=2 X-3¥=-6
10) 2Y=-aX+1, Y=-32X+12

1) (3-112x2+16-T=3¥-4Y +9

(6'2}2!2715 *T==¥Y4+9
X2+16-7-9=-Y

128+16-16=-Y, 8-16=.Y, 8=Y

12) (3-5P + [6-4|-X=3X

(2)2 + 2] X=3X

44+2=4X, B=4X, 112= X
13) 3(A - 4) - 5(2A - 6) = 21

3A -12-10A+ 30 =21

“TA+18=21, -TA=3, A=-3/T

14) il-ﬁ’;%-—a-{gﬂ—;rﬂ -aﬂﬂ%r

20+ 12A =33, A=11N12

15) 62 « («6)2 =36 - 36 = -72

18) 5+5-(-T)=10+7=17

17 -[-¢D=-[7]=-7

18) (-8)2 =64

18) 25% =25, 25x76.98=3519.25

20) 45% = .45,

A5 x 600 = 270 people
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It your student kext has Lesson Practice 8A.1 - BA3, an:hmnmk of your student

book for the solutions, Il your stude

7) onthe graph
3
B} Ehpﬂ: = ?

9) y-intercept =3
10) Y=-3/2X4+3
11) C (Y=-32X)

12) on the graph
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13))Y=- -2
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afﬁ X=-2 3X+2Y=-4
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bﬁ—3Y+4¥‘*3
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1) on the graph %
2) slope = % =1

3) yeintercept = -4

4) Y=X-4, X-Y=4
5 C (Y=14X4+2)

6) on the graph
Y
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N Y¥Y=1M4X-1

Yu-2X4+3 slopg=-2

9) A-Y=-5

10) 4¥ =-2X+8, Y=-12X+2

2

1) M-1-1-12 =12 +B[-1) = 1
TG:“-B-?-', 15=-8, -15=B

12) (3+5°+ B-11|+Z=4(Z-2)
824+ |l3|l+2=4Z2-8

G4+3+2L=42-8, T5=3, 26=2

13) 5(B-6)+4(2B+ 7) = 102

58-30+88 +28=102
13B-2=102, 13B=104, B=8

14) 550 -30Q =125
250=125, Q=5

15) -{-[-(-8)]}=-{-]8]}=8
16) 92 = -81

17) {-4)=4

18) 324(32=9+9=18

19) 76%=.76, .76X200=S152
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a5 0 gSS0NS, your lesson practice 88 is the same
as 98-2 in these solutions. A-:Hmlnaﬂhﬁmnuﬁ:ertmtmemhwhmm

15} on the graph
16) slope =2 = 4
17) y-intercept = -
18) ¥ =4X-1

19) C (Y=32X4+1)

20) on the graph
21) Y=4X4+3
22) 4X-Y=-3
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